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SoLUuTION
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11.

(B)

(A)

(A)

(B)

Liabilities = Assets — Capital
%5,60,000 -%3,80,000 =%1,80,000
Value of Stock = 340,000

Opening Stock + Closing Stock = 40,000
If opening Stock is x then,

Closing Stock = (x— 8,000)

x+ (x-8,000) = 40,000

x= 24,000
Opening Stock = ¥24,000

Closing Capital 13,00,000
Add: Drawings 2,10,000

Less: Additional Capital (3,80,000)
Less: Opening Capital (6,00,000)
Profit earned during (¥5,30,000)
the year

Purchases = Cost of Goods Sold + Closing
Stock — Opening Stock

= 80,500 + 4,300 - 5,600 =¥79,200

13.

16.

26.

27.

28.

Ph: O955510888S8,

(A) Gross Profit = Soles — COGS
3,00,000 - 2,30,000 =%70,000

(A) Invoice value will be = Cost + 30%
30% of 2,00,000 = 60,000
Invoice value = 2,00,000 + 60,000

=%2,60,000

(B) Goods brought worth
Less: Trade discount (10%) (%8,800)

Less: Cash discount (10%)

88,000

X7,920)

371,280

55
Amount due = 71,280 x —— =339,204

100

(A) Amount paid by Ankit =

9400 x

100

-%6,110

(*) Value of Plant
= 3,28,000 + 7,800 + 1,300 + 12,400
=33,49,500
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29. (C) Bank Reconciliation Statement 37. (B) Value of Machine 3,00,000
Particulars Amount(3) Less: Depreciation (1%t Year) (30,000)
Less: Depreciation (2™ Year) (30,000)
Balance as per Cash Book | 12,300 Value of Machine after 2,40,000
Add: Cheque issued but 4,400 two year
not presented
. P e 240) Profit earned = 2,56,000 — 2,40,000
ess: Interest charged by :
Bank =%16,000

39. (B) Cost of goods sold
= Opening Stock + Purchases — Closing
32. (B) Assets = Capital + Liabilities Stock
90,000 + 35,000 =%1,25,000 = 35,000 + 65,000 - 52,000 = ¥48,000
Fixed assets = Assets — Current Assets | 52. (C) Fixed cost for 6 unit
=1,25,000-12,500=%1,12,500 =AFCx6 =40x6=240

Balance as per Pass Book | 16,460

-~

. 240
AFC at unit 4 = T =360
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Note:- If you face any problem regarding result or marks scored, please
contact 9313111777

any of the doubts. Join the group and you may also share your sugesstions

Note : Whatsapp with Mock Test No. and Question No. at 705360571 for
and experience of Sunday Mock Test.

Note:- If your opinion differs regarding any answer, please message the mock
test and question number to 8860330003

Ph: 0955510881, 09555208888




